| Related Work Full-time | Related Work Part- time | Unrelated Work Seeking Related | Unrelated Work Not Seeking Related | Continue Education | Available for Work but Unemployed | Unavailable for Work | Status Unknown | Total Graduates | Total Related Work | Total Available for Related Employment | Related Employment Rate |
|------------------------------|-------------------------------|---|---|-----------------------|---|-------------------------|-------------------|--------------------|--------------------------|---|-------------------------------|
| .NET Progr | amming - Occ | upational Certi | ficate (110202) | | | | | | | | |
| 0 | 0 | <10 | 0 | <10 | <10 | 0 | <10 | 14 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | * | 0.0% | * | * | 0.0% | * | 100.0% | 0.0% | * | |
| Academic L | English Langua | age Proficiency | / - Occupational | Certificate (320 | 109) | | | | | | |
| 0 | <10 | 0 | 0 | <10 | 0 | 0 | <10 | <10 | <10 | <10 | 100.0% |
| 0.0% | * | 0.0% | 0.0% | * | 0.0% | 0.0% | * | * | * | * | |
| Accounting | - Associate in | Science (5203 | 301) | | | | | | | | |
| <10 | <10 | <10 | <10 | 18 | 0 | <10 | <10 | 36 | 11 | 12 | 91.7% |
| * | * | * | * | 50.0% | 0.0% | * | * | 100.0% | 30.6% | 33.3% | |
| Accounting | Essentials - C | Occupational C | ertificate (52030 | 02) | | | | | | | |
| <10 | 0 | 0 | 0 | 37 | <10 | 0 | <10 | 43 | <10 | <10 | 80.0% |
| * | 0.0% | 0.0% | 0.0% | 86.0% | * | 0.0% | * | 100.0% | * | * | |
| Accounting | Technology - | Associate in A | pplied Science (| (520302) | | | | | | | |
| <10 | <10 | <10 | <10 | <10 | 0 | 0 | 0 | <10 | <10 | <10 | 71.4% |
| * | * | * | * | * | 0.0% | 0.0% | 0.0% | * | * | * | |
| American S | Sign Language | - Occupationa | l Certificate (16 | 1601) | | | | | | | |
| 0 | 0 | 0 | <10 | <10 | <10 | 0 | <10 | <10 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | 0.0% | * | * | * | 0.0% | * | * | 0.0% | * | |
| Application | Programming | - Occupationa | l Certificate (110 | 0201) | | | | | | | |
| <10 | 0 | <10 | 0 | 35 | 0 | 0 | <10 | 40 | <10 | <10 | 66.7% |
| * | 0.0% | * | 0.0% | 87.5% | 0.0% | 0.0% | * | 100.0% | * | * | |
| Biology - A | ssociate in Sci | ience (260101) |) | | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Building Ins | spection - Occ | upational Certi | ficate (460403) | | | | | | | | |
| <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | 28 | <10 | 12 | 50.0% |
| * | * | * | * | * | * | * | * | 100.0% | * | 42.9% | |
| Building Ins | spection Techr | nology - Associ | iate in Applied S | Science (460403) |) | | | | | | |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | 0.0% | 0.0% | |
| Business A | dministration - | Associate in S | Science (520201 | ') | | | | | | | |
| 13 | <10 | 0 | 0 | 33 | <10 | <10 | <10 | 59 | 16 | 18 | 88.9% |
| 22.0% | * | 0.0% | 0.0% | 55.9% | * | * | * | 100.0% | 27.1% | 30.5% | |

| | | Unrelated | Unrelated | I | | | | | | Total | |
|------------------------------|-------------------------------|----------------------------|--------------------------------|-----------------------|---|-------------------------|-------------------|--------------------|--------------------------|--|-------------------------------|
| Related Work Full-time | Related Work Part- time | Work Seeking Related | Work Not Seeking Related | Continue Education | Available for Work but Unemployed | Unavailable for Work | Status Unknown | Total Graduates | Total Related Work | Available for Related Employment | Related Employment Rate |
| Business C | Computer Syste | ems and Mana | gement - Assoc | iate in Applied S | cience (521201) | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Business C | Computer Syste | ems and Mana | gement - Assoc | iate in Science (| 521201) | | | | | | |
| <10 | <10 | <10 | 0 | 10 | 0 | 0 | <10 | 15 | <10 | <10 | 75.0% |
| * | * | * | 0.0% | 66.7% | 0.0% | 0.0% | * | 100.0% | * | * | |
| Business P | Principles - Occ | cupational Cert | tificate (520101) | | | | | | | | |
| 11 | <10 | <10 | 0 | 120 | 0 | 0 | <10 | 146 | 14 | 17 | 82.4% |
| 7.5% | * | * | 0.0% | 82.2% | 0.0% | 0.0% | * | 100.0% | 9.6% | 11.6% | |
| Chemistry - | - Associate in | Science (4005 | 01) | | | | | | | | |
| <10 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | * | * | |
| Computer S | Science - Asso | ociate in Sciend | ce (110701) | | | | | | | | |
| <10 | 0 | <10 | 0 | 14 | <10 | <10 | <10 | 30 | <10 | 13 | 69.2% |
| * | 0.0% | * | 0.0% | 46.7% | * | * | * | 100.0% | * | 43.3% | |
| Construction | on Managemer | nt - Occupation | nal Certificate (4 | 60412) | | | | | | | |
| <10 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | * | * | |
| Construction | on Managemer | nt and Supervis | sion - Associate | in Science (522 | 001) | | | | | | |
| <10 | 0 | 0 | 0 | <10 | 0 | 0 | <10 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | * | * | * | * | |
| Creative W | riting - Associa | ate of Fine Arts | s (231302) | | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | <10 | <10 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | * | * | * | 0.0% | 0.0% | |
| Criminal Ju | stice - Associa | ate in Science | (430104) | | | | | | | | |
| <10 | <10 | <10 | <10 | 26 | <10 | 0 | <10 | 48 | <10 | 10 | 70.0% |
| * | * | * | * | 54.2% | * | 0.0% | * | 100.0% | * | 20.8% | |
| E-Commerc | ce Essentials - | - Occupational | Certificate (520 | 208) | | | | | | | |
| <10 | 0 | 0 | <10 | 10 | <10 | 0 | <10 | 16 | <10 | <10 | 33.3% |
| * | 0.0% | 0.0% | * | 62.5% | * | 0.0% | * | 100.0% | * | * | |
| E-Commerc | ce Professiona | al - Occupation | al Certificate (52 | 20208) | | | | | | | |
| <10 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | * | |

| Related Work | Related Work Part- | Unrelated Work Seeking | Unrelated Work Not Seeking | Continue | Available for Work but | Unavailable | Status | Total | Total Related | Total Available for Related | Related Employment |
|-----------------|-----------------------|------------------------------|----------------------------------|-----------|---------------------------|-------------|---------|-----------|------------------|-----------------------------------|-----------------------|
| Full-time | | Related | Related | Education | Unemployed | for Work | Unknown | Graduates | Work | Employment | Rate |
| Entreprene | urship - Assoc | iate in Applied | Science (52070 | 01) | | | | | | | |
| 0 | <10 | <10 | 0 | <10 | 0 | 0 | 0 | <10 | <10 | <10 | 50.0% |
| 0.0% | * | * | 0.0% | * | 0.0% | 0.0% | 0.0% | * | * | * | |
| Entreprene | urship - Occup | oational Certific | ate (520701) | | | | | | | | |
| <10 | <10 | 0 | 0 | 42 | <10 | <10 | <10 | 57 | <10 | 10 | 90.0% |
| * | * | 0.0% | 0.0% | 73.7% | * | * | * | 100.0% | * | 17.5% | |
| Finance an | d Investments | - Occupationa | l Certificate (520 | 0803) | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Finance Ma | anagement - A | ssociate in App | olied Science (5 | 20801) | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | <10 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | * | * | 0.0% | 0.0% | |
| General Ac | counting - Occ | cupational Cert | ificate (520301) | | | | | | | | |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | 0.0% | 0.0% | |
| Graphic De | esign - Associa | te in Science (| (500409) | | | | | | | | |
| <10 | 0 | <10 | <10 | 11 | 0 | <10 | <10 | 22 | <10 | <10 | 75.0% |
| * | 0.0% | * | * | 50.0% | 0.0% | * | * | 100.0% | * | * | |
| Histotechno | ology - Associa | ate in Applied S | Science (511008 | 3) | | | | | | | |
| <10 | <10 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | <10 | 100.0% |
| * | * | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | * | |
| Individualiz | ed Studies - A | ssociate in Sci | ence (309999) | | | | | | | | |
| <10 | 0 | 0 | 0 | <10 | <10 | 0 | <10 | <10 | <10 | <10 | 50.0% |
| * | 0.0% | 0.0% | 0.0% | * | * | 0.0% | * | * | * | * | |
| Internet Pro | ogramming - O | ccupational Ce | ertificate (11020) | 2) | | | | | | | |
| 0 | 0 | <10 | 0 | <10 | 0 | <10 | <10 | <10 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | * | 0.0% | * | 0.0% | * | * | * | 0.0% | * | |
| Law Enforce | ement - Assoc | ciate in Science | e (430107) | | | | | | | | |
| 12 | <10 | <10 | 0 | <10 | <10 | <10 | <10 | 43 | 17 | 20 | 85.0% |
| 27.9% | * | * | 0.0% | * | * | * | * | 100.0% | 39.5% | 46.5% | |
| | and Sciences | s - Associate in | Arts (240101) | | | | | | | | |
| 30 | <10 | <10 | 21 | 245 | <10 | <10 | 48 | 374 | 39 | 52 | 75.0% |
| 8.0% | * | * | 5.6% | 65.5% | * | * | 12.8% | 100.0% | 10.4% | 13.9% | |

| Related Work Full-time | Related Work Part- time | Unrelated Work Seeking Related | Unrelated Work Not Seeking Related | Continue Education | Available for Work but Unemployed | Unavailable for Work | Status Unknown | Total Graduates | Total Related Work | Total Available for Related Employment | Related Employment Rate |
|------------------------------|-------------------------------|---|---|-----------------------|---|-------------------------|-------------------|--------------------|--------------------------|---|-------------------------------|
| Manageme | nt - Associate | in Applied Scie | ence (520201) | | | | | | | | |
| <10 | 0 | 0 | <10 | <10 | 0 | 0 | <10 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | * | * | 0.0% | 0.0% | * | * | * | * | |
| Manageme | nt - Occupatio | nal Certificate | (520201) | | | | | | | | |
| <10 | <10 | 0 | 0 | 89 | 0 | <10 | <10 | 104 | <10 | <10 | 100.0% |
| * | * | 0.0% | 0.0% | 85.6% | 0.0% | * | * | 100.0% | * | * | |
| Marketing - | Associate in A | Applied Scienc | e (521401) | | | | | | | | |
| 0 | 0 | <10 | 0 | 0 | 0 | 0 | 0 | <10 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | * | |
| Marketing - | Associate in S | Science (52140 | 01) | | | | | | | | |
| <10 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | * | * | |
| Marketing a | and Sales - Oc | cupational Cer | rtificate (521801) |) | | | | | | | |
| <10 | 0 | 0 | 0 | 16 | 0 | 0 | <10 | 19 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | 84.2% | 0.0% | 0.0% | * | 100.0% | * | * | |
| Mathematic | s - Associate | in Science (27 | 0101) | | | | | | | | |
| 0 | 0 | <10 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | * | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | * | |
| Medical Lai | b Technology | - Associate in A | Applied Science | (511004) | | | | | | | |
| <10 | <10 | 0 | <10 | <10 | <10 | 0 | <10 | 18 | 12 | 13 | 92.3% |
| * | * | 0.0% | * | * | * | 0.0% | * | 100.0% | 66.7% | 72.2% | |
| Microsoft C | Office Administ | rative Profession | onal - Occupatio | nal Certificate (| 520407) | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Microsoft C | Office Essentia | ls - Occupation | nal Certificate (52 | 20407) | | | | | | | |
| 0 | <10 | 0 | 0 | 16 | 0 | 0 | <10 | 19 | <10 | <10 | 100.0% |
| 0.0% | * | 0.0% | 0.0% | 84.2% | 0.0% | 0.0% | * | 100.0% | * | * | |
| Microsoft C | office Fundame | entals - Occupa | ational Certificate | e (520407) | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| | | | al Certificate (52 | (0407) | | | | | | | |
| <10 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | * | |

| Related Work Full-time | Related Work Part- time | Unrelated Work Seeking Related | Unrelated Work Not Seeking Related | Continue Education | Available for Work but Unemployed | Unavailable for Work | Status Unknown | Total Graduates | Total Related Work | Total Available for Related Employment | Related Employment Rate |
|------------------------------|-------------------------------|---|---|-----------------------|---|-------------------------|-------------------|--------------------|--------------------------|---|-------------------------------|
| Music - Ass | sociate of Fine | Arts (500901) | | | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Nursing (M. | ANE) - Associ | ate in Science | (513801) | | | | | | | | |
| 57 | 18 | 0 | <10 | 19 | 0 | <10 | <10 | 115 | 75 | 93 | 80.6% |
| 49.6% | 15.7% | 0.0% | * | 16.5% | 0.0% | * | * | 100.0% | 65.2% | 80.9% | |
| Object-Orie | ented Program | ming - Occupa | tional Certificate | (110201) | | | | | | | |
| <10 | 0 | <10 | 0 | 27 | <10 | 0 | <10 | 36 | <10 | <10 | 66.7% |
| * | 0.0% | * | 0.0% | 75.0% | * | 0.0% | * | 100.0% | * | * | |
| Paralegal - | Associate in S | Science (22030 | 12) | | | | | | | | |
| <10 | 0 | <10 | <10 | 12 | <10 | <10 | <10 | 30 | <10 | <10 | 77.8% |
| * | 0.0% | * | * | 40.0% | * | * | * | 100.0% | * | * | |
| Paralegal - | Occupational | Certificate (22) | 0302) | | | | | | | | |
| <10 | <10 | <10 | <10 | <10 | <10 | 0 | <10 | 16 | <10 | 10 | 70.0% |
| * | * | * | * | * | * | 0.0% | * | 100.0% | * | 62.5% | |
| Personal Ti | rainer - Occup | ational Certifica | ate (131314) | | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Physical Ed | ducation - Asso | ociate in Scien | ce (131314) | | | | | | | | |
| 0 | 0 | <10 | 0 | <10 | 0 | 0 | <10 | <10 | 0 | <10 | 0.0% |
| 0.0% | 0.0% | * | 0.0% | * | 0.0% | 0.0% | * | * | 0.0% | * | |
| Pre-Engine | ering - Associa | ate in Science | (140102) | | | | | | | | |
| <10 | 0 | 0 | 0 | <10 | 0 | 0 | <10 | <10 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | * | * | * | * | |
| Project Mai | nagement Ess | entials - Occup | oational Certifica | te (520211) | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | |
| Public Worl | ks - Occupatio | nal Certificate | (150201) | | | | | | | | |
| 23 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | 36 | 23 | 23 | 100.0% |
| 63.9% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | 100.0% | 63.9% | 63.9% | |
| Sales - Occ | cupational Cer | tificate (521804 | 4) | | | | | | | | |
| <10 | 0 | 0 | 0 | 24 | 0 | 0 | <10 | 27 | <10 | <10 | 100.0% |
| * | 0.0% | 0.0% | 0.0% | 88.9% | 0.0% | 0.0% | * | 100.0% | * | * | |

| Related Work Full-time | Related Work Part- time | Unrelated Work Seeking Related | Unrelated Work Not Seeking Related | Continue Education | Available for Work but Unemployed | Unavailable for Work | Status Unknown | Total Graduates | Total Related Work | Total Available for Related Employment | Related Employment Rate | |
|---|-------------------------------|---|---|-----------------------|---|-------------------------|-------------------|--------------------|--------------------------|---|-------------------------------|--|
| Small Business Accounting - Occupational Certificate (520302) | | | | | | | | | | | | |
| <10 | 0 | 0 | 0 | 10 | 0 | 0 | 0 | 13 | <10 | <10 | 100.0% | |
| * | 0.0% | 0.0% | 0.0% | 76.9% | 0.0% | 0.0% | 0.0% | 100.0% | * | * | | |
| Spanish La | nguage - Occı | ıpational Certil | icate (240101) | | | | | | | | | |
| 0 | 0 | 0 | 0 | <10 | 0 | 0 | 0 | <10 | 0 | 0 | N/A | |
| 0.0% | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | 0.0% | * | 0.0% | 0.0% | | |
| Studio Arts | - Associate of | Fine Arts (500 | 702) | | | | | | | | | |
| <10 | <10 | <10 | <10 | <10 | 0 | <10 | 0 | <10 | <10 | <10 | 66.7% | |
| * | * | * | * | * | 0.0% | * | 0.0% | * | * | * | | |
| Theatre - As | ssociate of Fin | e Arts (50050 | 1) | | | | | | | | | |
| 0 | 0 | 0 | 0 | 0 | 0 | 0 | <10 | <10 | 0 | 0 | N/A | |
| 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | 0.0% | * | * | 0.0% | 0.0% | | |
| Web Graph | ic Design, Pro | gramming and | e-Commerce - | Occupational Ce | ertificate (110801) | | | | | | | |
| <10 | 0 | 0 | 0 | <10 | <10 | 0 | <10 | <10 | <10 | <10 | 50.0% | |
| * | 0.0% | 0.0% | 0.0% | * | * | 0.0% | * | * | * | * | | |